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Supplementary Figure S1.—Waveform and spectrogram of courtship signals of neighbor (1) and focal (2) S. retrorsa males. The clip was

recorded in the 4-neighbor trial of individual r0119.
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Supplementary Figure S2.—Heatmap of the focal males’ movement during the 1-neighbor trial when neighbor males did not (Left, n=19) and
did court (Right, n=5). Yellow circles are the location of neighbor males. The spending time at each grid (0.1 seconds) is color-coded (Blue, 0

—Red, 90 seconds).
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Supplementary Figure S3.— Heatmap of the focal males’ movement during the 4-neighbor trial when neighbor males did not (Left, n=10)
and did court (Right, n=14). Yellow circles are the location of neighbor males. The spending time at each grid (0.1 seconds) is color-coded (Blue,

0 — Red, 90 seconds).
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Supplementary Figure S4.—Heatmap of the focal males’ movement during the 8-neighbor trial when neighbor males did not (Left, n=19) and
did court (Right, n=5). Yellow circles are the location of neighbor males. The spending time at each grid (0.1 seconds) is color-coded (Blue, 0

—Red, 30 seconds).
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